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Example

1. Integrate each of the following functions : 

Watch Video Solution

(x − 2)3

x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OR8UFaz7sHkQ


2. Integrate each of the following functions : 

Watch Video Solution

px2 + qx + r

x√x

3. Integrate each of the following functions : 

Watch Video Solution

x3 + 4x2 + x − 6

x2 + 2x

4. Evaluate : 

Watch Video Solution

∫ dx
2e4x − 3e2x + 4

e3x

https://dl.doubtnut.com/l/_QRPPWwmnwmZ7
https://dl.doubtnut.com/l/_P1RW3P0HFwCy
https://dl.doubtnut.com/l/_VKRraN15tjkt


5. Evaluate : 

Watch Video Solution

∫ dx
e6x + e4x

ex + e−x

6. Evaluate : 

Watch Video Solution

∫ dx
e2 logx − e− logx

e2 logx − elogx

7. Find the integrals of 

Watch Video Solution

32x − 2. 3x + 6

3x

https://dl.doubtnut.com/l/_ja5raF6RDP0F
https://dl.doubtnut.com/l/_a5Bj4D8Wu0a3
https://dl.doubtnut.com/l/_04BEeVdI2cb0


8. Find the integrals of 

Watch Video Solution

82 +x − 42 −x

2x+ 3

9. Evaluate : 

Watch Video Solution

∫cos2 2xdx

10. Evaluate : 

Watch Video Solution

∫sin3
xdx

https://dl.doubtnut.com/l/_qTUKhLbYGOKo
https://dl.doubtnut.com/l/_JZagPYe1WtMZ
https://dl.doubtnut.com/l/_oD2fz31tdiOS


11. Evaluate : 

Watch Video Solution

∫sin 3x sin 4xdx

12. Evaluate : 

Watch Video Solution

∫sin2 3x cos 3xdx

13. Evaluate : 

Watch Video Solution

∫sinx cos 3x sin 5xdx

https://dl.doubtnut.com/l/_S6MYgaHCkWrN
https://dl.doubtnut.com/l/_1AW9uWPKsywl
https://dl.doubtnut.com/l/_B3INYmU7Eqtx


14. Evaluate ,

Watch Video Solution

∫ dθ
tan θ

cos θ

15. Evaluate ,

Watch Video Solution

∫sec2 θcosec2θdθ

16. Evaluate 

Watch Video Solution

∫
dx

1 + cos x

https://dl.doubtnut.com/l/_fhEJhh36n0r9
https://dl.doubtnut.com/l/_MdrkJKmHIvJb
https://dl.doubtnut.com/l/_4Kq5IcGUjPbO


17. Evaluate 

Watch Video Solution

∫
dx

1 + sinx

18. Evaluate 

Watch Video Solution

∫√1 + cos 2xdx

19. Evaluate 

Watch Video Solution

∫ dx
sinx

√1 + cos x

https://dl.doubtnut.com/l/_doySRvXHgeTc
https://dl.doubtnut.com/l/_l80lNMbj2pEp
https://dl.doubtnut.com/l/_7XPkH8rWAkua


20. Evaluate 

Watch Video Solution

∫√1 + sin. dx
x

2

21. Evaluate 

Watch Video Solution

∫ dθ
cos 2θ − cos 2α

sinα − sin θ

22. Evaluate , 

Watch Video Solution

∫ dx
cos 2x + sinx

1 + 2 sinx

https://dl.doubtnut.com/l/_GoIzOc7aYJEw
https://dl.doubtnut.com/l/_z9sudZzRndwH
https://dl.doubtnut.com/l/_7dpSWd6Jh9jG


23. Evaluate , 

Watch Video Solution

∫ (1 − 3 cos3 x)dx
cos x

sin2 x

24. Evaluate : 

Watch Video Solution

∫tan− 1( )dx
1 + cos x

sinx

25. Evaluate: `inttan^(-1)(secx+tanx)dx ,\ -pi//2

Watch Video Solution

https://dl.doubtnut.com/l/_QElqR6hdBFIT
https://dl.doubtnut.com/l/_bETfjd6syIeV
https://dl.doubtnut.com/l/_d6hrLX6pOCWr


26. Evaluate 

Watch Video Solution

∫tan− 1{√ }dx, − < x <
1 − sinx

1 + sinx

π

2

π

2

27. Find the function whose derivative is 

Watch Video Solution

3 sinx cos2 x − sin3 x

28. If  at any point (x,y) on a curve , find the equation of

the family of curves

Watch Video Solution

=
dy

dx

1

x

https://dl.doubtnut.com/l/_cDbAaKW82ZZA
https://dl.doubtnut.com/l/_p8zfQdcmh9GR
https://dl.doubtnut.com/l/_t8SYRhTNM5Qn


Exercise Multiple Choice Questions

29. The slope of a curve at (x,y) is  and it passes through

the point (3,8) . Find the equation of the curve

Watch Video Solution

(x2 − 2)

1.  is equal to -

A. 

B. 

C. 

D. none of these

Answer: C

W t h Vid S l ti

∫xndx

nxn− 1

+ c
xn+ 1

n + 1

+ c  when n ≠ − 1
xn+ 1

n + 1

https://dl.doubtnut.com/l/_0Hc5waH5mpwd
https://dl.doubtnut.com/l/_tHbXpa9fq8KC


Watch Video Solution

2. If k is a constant , then the integral of k w.r.t x is-

A. 

B. kx

C. 

D. 

Answer: C

Watch Video Solution

+ c
k

x

kx + c

kx2 + c

3. If  , then y =

A. 6

= 6x
dy

dx

https://dl.doubtnut.com/l/_tHbXpa9fq8KC
https://dl.doubtnut.com/l/_B3tUXw4PaupI
https://dl.doubtnut.com/l/_H8GCgZL44F12


B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2

2x2

6x2

4.  is a function of -

A. tan x

B. sin x

C. cos x

D. none of these

Answer: A

∫sec2 x  cosec2xdx

https://dl.doubtnut.com/l/_H8GCgZL44F12
https://dl.doubtnut.com/l/_b8qSN9wdaBJx


Watch Video Solution

5. The  then y =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= 6x
dy

dx

cot θ − θ

−cot θ + θ + c

cot θ + θ + c

−cot θ − θ + c

6. To evaluate  we are to use the formula of -

A. 

∫sin2 xdx

sin 2x

https://dl.doubtnut.com/l/_b8qSN9wdaBJx
https://dl.doubtnut.com/l/_VaPPW7RQQHsl
https://dl.doubtnut.com/l/_HZXBZFKkBIk4


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

cos 2x

tan 2x

7. The value of  is

A. 

B. 

C. 

D. 

Answer: C

∫sinx ∘ dx

cos x ∘ + c
π

180

cos x ∘ + c
180

π

− cos x ∘ + c
180

π

− cos x ∘ + c
180

π

https://dl.doubtnut.com/l/_HZXBZFKkBIk4
https://dl.doubtnut.com/l/_Mnrkbfo0NcIK


Watch Video Solution

8. The value of  is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫23xdx

23x

3 log 2

+ c
23x

3 log 2

3 × 23x

log 2

3 log 2 × 23x + c

9. The value of  dx is -

A. 

∫e5 logx

e5 logx

5

https://dl.doubtnut.com/l/_Mnrkbfo0NcIK
https://dl.doubtnut.com/l/_Mh5gJ4scAXzv
https://dl.doubtnut.com/l/_SwDeCG3Qqy1s


B. 

C. 

D. 

Answer: D

Watch Video Solution

+ c
e5 logx

5 logx

+ c
x5

5

+ c
x6

6

10.  dx is equal to -

A. 

B. 

C. 

D. 

Answer: A

∫
x2 + 1

x

x2 = log|x| + c
1

2

logx + x2 + c
1

2

x + log|x| + c

x2 + log|x| + c

https://dl.doubtnut.com/l/_SwDeCG3Qqy1s
https://dl.doubtnut.com/l/_OsWlRjjkT0Ck


Watch Video Solution

11. If the derivative of a function is  , then the function is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√x

+ c
1

2√3

x + c
2

3

3
2

x + c
3

2

3
2

+ c
2

3√x

12. If  , then the value of y is -

A. 

= 3x2 − 2
dy

dx

x3 − 2x + c

https://dl.doubtnut.com/l/_OsWlRjjkT0Ck
https://dl.doubtnut.com/l/_EySjLqMFoPPL
https://dl.doubtnut.com/l/_CdXAhBH3LLwN


B. 

C. 

D. 

Answer: A

Watch Video Solution

x3 − 2c

x2 − 2x + c
3

2

x3 − 2x2 + c

13. The value of  dx is -

A. 

B. 

C. 

D. 

Answer: D

∫(cosec2x cot 2x)

− + c
cot 2x

2

2 cot 2x + c

−2  cosec 2x + c

− + c
cosec2x

2

https://dl.doubtnut.com/l/_CdXAhBH3LLwN
https://dl.doubtnut.com/l/_WBbb05F1N7kO


Very Short Answer Type Questions

Watch Video Solution

14. If  , then the value of  is -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

m ≠ 0 ∫secmx tanmxdx

m  sec mx + c

m tanmx + c

+ c
secmx

m

+ c
tanmx

m

https://dl.doubtnut.com/l/_WBbb05F1N7kO
https://dl.doubtnut.com/l/_8U0ptLkJlNN0


1. Prove that ,  where  . Does the

formula hold for a = 1 ?

Watch Video Solution

∫axdx = + c,
ax

loge a
a > 0

2. Prove by using definition of indefinite integral : 

 

where  is a constant independent of x and c is an

arbitrary constant .

Watch Video Solution

∫sinmxdx = − + c
cosmx

m

m ≠ 0

3. Prove by using definition of indefinite integral : 

 
∫cosmxdx = + c
sinmx

m

https://dl.doubtnut.com/l/_QLMJehRgIsCs
https://dl.doubtnut.com/l/_7mp5GouqegDN
https://dl.doubtnut.com/l/_QNBEfvJv0kse


where  is a constant independent of x and c is an

arbitrary constant .

Watch Video Solution

m ≠ 0

4. Prove by using definition of indefinite integral : 

 

where  is a constant independent of x and c is an

arbitrary constant .

Watch Video Solution

∫sec2 mxdx = + c
tanmx

m

m ≠ 0

5. Prove by using definition of indefinite integral : 

 

where  is a constant independent of x and c is an

arbitrary constant .

∫cosec2mxdx = − + c
cot mx

m

m ≠ 0

https://dl.doubtnut.com/l/_QNBEfvJv0kse
https://dl.doubtnut.com/l/_dG2eM8mLlBn7
https://dl.doubtnut.com/l/_CVVmtnyKBU3d


Watch Video Solution

6. Prove by using definition of indefinite integral : 

 

where  is a constant independent of x and c is an

arbitrary constant .

Watch Video Solution

∫secmx tanmxdx = + c
secmx

m

m ≠ 0

7. Prove by using definition of indefinite integral : 

 

where  is a constant independent of x and c is an

arbitrary constant .

Watch Video Solution

∫  cosecmx cot mxdx = − + c
cosec mx

m

m ≠ 0

https://dl.doubtnut.com/l/_CVVmtnyKBU3d
https://dl.doubtnut.com/l/_jhhRmIsFMGof
https://dl.doubtnut.com/l/_PLSfG3TwYvmI


8. Using the definition of integration find y in terms of x : 

Watch Video Solution

= 3x2 + 2
dy

dx

9. Using the definition of integration find y in terms of x : 

Watch Video Solution

dy = (ax + b)dx

10. Using the definition of integration find y in terms of x : 

Watch Video Solution

= 2 sin 2x
dy

dx

https://dl.doubtnut.com/l/_AibiTYwKcIVk
https://dl.doubtnut.com/l/_Nd6VjoWaJiit
https://dl.doubtnut.com/l/_H31TT6zN3DwD


11. Using the definition of integration find y in terms of x : 

 given y = 3 , when x = 4

Watch Video Solution

= √x :
dy

dx

12. Integrate each of the following functions w.r.t . X : 

Watch Video Solution

x
2
3

13. Integrate each of the following functions w.r.t . X : 

Watch Video Solution

2
4√x3

https://dl.doubtnut.com/l/_xtnPrIGlMH56
https://dl.doubtnut.com/l/_rzpBIU03GffW
https://dl.doubtnut.com/l/_RHDpZZNQDPdr


14. Integrate each of the following functions w.r.t . X : 

Watch Video Solution

x4 − 2x2 + 5

15. Integrate each of the following functions w.r.t . X : 

Watch Video Solution

(x − )
3

2

x

16. Integrate each of the following functions w.r.t . X : 

Watch Video Solution

(x + 3)(x2 − 5)

https://dl.doubtnut.com/l/_DzShzBLQZvy9
https://dl.doubtnut.com/l/_Klbu9EuvPc8s
https://dl.doubtnut.com/l/_NB5295f8qjV3


17. Integrate each of the following functions w.r.t . X : 

Watch Video Solution

(√x + )

2
1

√x

1

√x

18. Evaluate : 

Watch Video Solution

∫e3 logxdx

19. Evaluate : 

Watch Video Solution

∫ dx
(e5x − 2e3x + 3)

ex

https://dl.doubtnut.com/l/_8KmC8zF4b7Ql
https://dl.doubtnut.com/l/_VpkbN72N8M84
https://dl.doubtnut.com/l/_0yFlxN8olSE4
https://dl.doubtnut.com/l/_zIIxjqPvdFvq


20. Evaluate : 

Watch Video Solution

∫ dx
e5x + e3x

ex + e−x

21. Evaluate : 

Watch Video Solution

∫(e2 logx − 2e− 3 logx)dx

22. Evaluate : 

Watch Video Solution

∫e− 4xdx

https://dl.doubtnut.com/l/_zIIxjqPvdFvq
https://dl.doubtnut.com/l/_gqX2yDOScQMT
https://dl.doubtnut.com/l/_b5awJPNXI81E


23. Integrate : 

Watch Video Solution

∫52xdx

24. Integrate : 

Watch Video Solution

∫(x4 + 4x)dx

25. Integrate : 

Watch Video Solution

∫(ex log a + ea logx)dx

https://dl.doubtnut.com/l/_Nl4oUWWpK5v5
https://dl.doubtnut.com/l/_oWNOnCuC0hbp
https://dl.doubtnut.com/l/_Skq334PatGkX


26. Evaluate the following integrals : 

Watch Video Solution

∫sin2 2xdx

27. Evaluate the following integrals : 

Watch Video Solution

∫ dx
2 tanx

1 + tan2 x

28. Evaluate the following integrals : 

Watch Video Solution

∫
2 tanx

1 + tan2 dx

https://dl.doubtnut.com/l/_xc21mXot4rw4
https://dl.doubtnut.com/l/_v32pSUlqE9oB
https://dl.doubtnut.com/l/_CbLY4rQJxUZH


29. Evaluate the following integrals : 

Watch Video Solution

∫secx(secx + tanx)dx

30. Evaluate the following integrals : 

Watch Video Solution

∫  cosec x(  cosec x − cot x)dx

31. Evaluate the following integrals : 

Watch Video Solution

∫cot2 θdθ

https://dl.doubtnut.com/l/_Lt2k2ToYQFwO
https://dl.doubtnut.com/l/_hTXgQhlBFdcF
https://dl.doubtnut.com/l/_ADelLVGbUezP


32. Evaluate the following integrals : 

Watch Video Solution

∫cos2 θdθ

33. Evaluate the following integrals : 

Watch Video Solution

∫ dx
1 + tan2 x

1 + cot2 x

34. Evaluate the following integrals : 

Watch Video Solution

∫ dx
secx + 2 cot2 x + cos2 x

cos x

https://dl.doubtnut.com/l/_87HCILG6N4kM
https://dl.doubtnut.com/l/_Qesqox02Ozx1
https://dl.doubtnut.com/l/_fZQbpCx76xLR


Short Answer Type Questions

35. Evaluate the following integrals : 

Watch Video Solution

∫ dx
sec2 x

cosec2x

36. If  at any point (x,y) on a curve , find the

equation of the family of curves .

Watch Video Solution

= 2x2 − 3
dy

dx

1. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

3x2 − 4x + 5

√5

https://dl.doubtnut.com/l/_TXyFYLrSbYxP
https://dl.doubtnut.com/l/_8twQ4TaD9DUK
https://dl.doubtnut.com/l/_FBCx16F3JOOg


2. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

(x2 + 1)
2

x3

3. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

(a + x )
33

2
2
3

4. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

12x2 − 7x − 10

3x + 2

https://dl.doubtnut.com/l/_FBCx16F3JOOg
https://dl.doubtnut.com/l/_EU97aYiiFMaG
https://dl.doubtnut.com/l/_397x0LR8efH9
https://dl.doubtnut.com/l/_qw8Bb7MExJyq
https://dl.doubtnut.com/l/_rLjsSxjit6Mw


5. Integrate each of the following functions w.r.t . X:

Watch Video Solution

x2 − 6x + 9
x − 3

6. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

x6 − 1

x − 1

7. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

x3 − 4x2 + 5x − 1

(x − 1)2

https://dl.doubtnut.com/l/_rLjsSxjit6Mw
https://dl.doubtnut.com/l/_xNJStgL63lfV
https://dl.doubtnut.com/l/_Ei8MEEBZ0gAw


8. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

x4 + x2 + 1

x2 − x + 1

9. Integrate each of the following functions w.r.t . X: 

Watch Video Solution

2x2 − 4x + 1

x2

10. Evaluate : 

Watch Video Solution

∫ dx
e6 logx − e4 logx

e3 logx − elogx

https://dl.doubtnut.com/l/_6WVEeeYbDl9i
https://dl.doubtnut.com/l/_IPskzOpLwA1L
https://dl.doubtnut.com/l/_NZaJjFka8T4f


11. Evaluate : 

Watch Video Solution

∫ dx
e2x− 1 − e1 − 2x

ex+ 2

12. Integrate : 

Watch Video Solution

∫ dx
82 +x + 2

2x+ 3

13. Integrate : 

Watch Video Solution

∫ dx
(27)

1 +x
+ 91 −x

3x

https://dl.doubtnut.com/l/_amsoUot4v8rd
https://dl.doubtnut.com/l/_4NcPDgpQ5yDv
https://dl.doubtnut.com/l/_Etpbv1P9oO1h


14. Integrate : 

Watch Video Solution

∫ dx
26x − 1

22x − 1

15. Evaluate the following integrals : 

Watch Video Solution

∫cos3 xdx

16. Evaluate the following integrals : 

Watch Video Solution

∫sin4 xdx

https://dl.doubtnut.com/l/_7vbNU0XIn5bP
https://dl.doubtnut.com/l/_kV4eJoO99hJ3
https://dl.doubtnut.com/l/_FmDZso4mnDdV


17. Evaluate the following integrals : 

Watch Video Solution

∫cos4 xdx

18. Evaluate the following integrals : 

Watch Video Solution

∫ (1 − sin 2x)dx
cos x + sinx

cos x − sinx

19. Evaluate the following integrals : 

Watch Video Solution

∫ dx
2 − 3 sinx

cos2 x

https://dl.doubtnut.com/l/_CdEBhGk83Kzs
https://dl.doubtnut.com/l/_cF08NdrallPT
https://dl.doubtnut.com/l/_LXltKIOB6MKK


20. Evaluate the following integrals : 

Watch Video Solution

∫ dx
sin3 x + cos3 x

sinx + cos x

21. Evaluate the following integrals : 

Watch Video Solution

∫ dx
1 + cos x

1 − cos x

22. Evaluate the following integrals : 

Watch Video Solution

∫ dθ
sin θ + cos θ

√1 + sin 2θ

https://dl.doubtnut.com/l/_5aL3yL7pWBH0
https://dl.doubtnut.com/l/_GtF7eQD5Txan
https://dl.doubtnut.com/l/_VIBxnOLVzNMo


23. Evaluate the following integrals : 

Watch Video Solution

∫(cos3 θ − 3 cos θ sin2 θ)dθ

24. Evaluate the following integrals : 

Watch Video Solution

∫
dx

sin2 x cos2 x

25. Evaluate the following integrals : 

Watch Video Solution

∫ dx
a sin3 x + b cos3 x

sin2 x cos2 x

https://dl.doubtnut.com/l/_QEGrMT6dJfq9
https://dl.doubtnut.com/l/_ALsuYx2wOPa4
https://dl.doubtnut.com/l/_SfJFv3dlZgIg


26. Evaluate the following integrals : 

Watch Video Solution

∫ dx
cos2 x − sin2 x

√1 + cos 4x

27. Evaluate the following integrals : 

Watch Video Solution

∫tan− 1( )dx
sinx

1 − cos x

28. Show that : 

Watch Video Solution

∫√1 + cos xdx = 2√2 sin. + c
x

2

https://dl.doubtnut.com/l/_L0zv70V7Fers
https://dl.doubtnut.com/l/_e38B1UvodJLU
https://dl.doubtnut.com/l/_7FxXbO8S99i9


29. Show that : 

Watch Video Solution

∫√1 − cos 2xdx = − √2 cos x + c

30. Show that : 

Watch Video Solution

∫√1 + sin 2xdx = − sinx − cos x + c

31. Show that : 

Watch Video Solution

∫√1 + sinxdx = 2(sin. − cos. ) + c = 2√1 − sinx + c
x

2
x

2

https://dl.doubtnut.com/l/_GBgrRdzMQ5QO
https://dl.doubtnut.com/l/_7ux2P5WW6KoK
https://dl.doubtnut.com/l/_nqXrlKHsWF7J


32. Show that : 

Watch Video Solution

∫ = tanx − secx + c
dx

1 + sinx

33. Show that : 

Watch Video Solution

∫ = − (cosecx + cot x) + c
dx

1 − cos x

34. Show that : 

Watch Video Solution

∫ = 2(sin. + cos. ) + c
cos xdx

√1 + sinx

x

2
x

2

https://dl.doubtnut.com/l/_p4taKOYdnA9V
https://dl.doubtnut.com/l/_wxKRMZOtycZo
https://dl.doubtnut.com/l/_LNdIh1J2yINS


35. Show that : 

Watch Video Solution

∫sin 7x cos 3xdx = − [ cos 10x + cos 4x] + c
1

20

1

8

36. Show that : 

Watch Video Solution

∫cos 2x cos 4xdx = + + c
sin 6x

12

sin 2x

4

37. Show that : 

Watch Video Solution

∫cos 7x sin 4xdx = cos 3x − cos 11x + c
1

6

1

22

https://dl.doubtnut.com/l/_gkLAXiEEl3B0
https://dl.doubtnut.com/l/_tTvmBI8QyTSy
https://dl.doubtnut.com/l/_Ekyst9t1WXjF


38. Show that : 

Watch Video Solution

∫sin 7x sin 3xdx = sin 4x − sin 10x + c
1

8

1

20

39. The slope of a curve at ( x,y) is  . If the curve passes

through the point  , find the equation of the curve .

Watch Video Solution

2x + 1

( − 4, 2)

40. Find the equation of the curve whose slope at any point (x,y)

is  and which through the point (2,1)

Watch Video Solution

( − y)

https://dl.doubtnut.com/l/_chgrW32WmV2Q
https://dl.doubtnut.com/l/_7z4EY1v6DKsv
https://dl.doubtnut.com/l/_43ydZlyxaF2e


Long Answer Type Questions

41. Find a function whose differential is 

Watch Video Solution

sin2 x cos2 xdx

42. If  , find y as a formula -of x , given y = 12

when x = 4

Watch Video Solution

= 3√x −
dy

dx

1

√x

1. Prove : 

Watch Video Solution

∫sinx sin 2x cos 3xdx = ( + − − x) + c
1

4

sin 2x

2
sin 4x

4

sin 6x

6

https://dl.doubtnut.com/l/_jaWoST02tZrl
https://dl.doubtnut.com/l/_t6Np7862TsoN
https://dl.doubtnut.com/l/_jnRSKx6O2e5c


2. Prove : 

Watch Video Solution

∫cos x cos 2x cos 3xdx = (x + + + ) + c
1

4

sin 2x

2
sin 4x

4

sin 6x

6

3. Prove : 

Watch Video Solution

∫sinx cos 2x cos 3xdx = − ( − + ) + c
1

4

cos 2x

2
cos 4x

4

cos 6x

6

4. Prove : 

 

Watch Video Solution

∫sinx sin 2x sin 3xdx

= − (6 cos 2x + 3 cos 4x − 2 cos 6x) + c
1

48

https://dl.doubtnut.com/l/_YLBgD3KKGoPy
https://dl.doubtnut.com/l/_uxSXgJr4nO2z
https://dl.doubtnut.com/l/_5KCHUnaouX0P
https://dl.doubtnut.com/l/_onNiPQeO4m4c


5. Prove : 

Watch Video Solution

∫sin2 x cos 2xdx = (sin 2x − − x) + c
1

4
sin 4x

4

6. Prove : 

Watch Video Solution

∫2 cos2 2x sin 4xdx = − (4 cos 4x + cos 8x) + c
1

16

7. Prove : 

Watch Video Solution

∫ dx = 2(x cosα + sinx) + c
cos 2x − cos 2α

cos x − cosα

https://dl.doubtnut.com/l/_onNiPQeO4m4c
https://dl.doubtnut.com/l/_TqgKjuxmFPJa
https://dl.doubtnut.com/l/_pk3i0TQgTPwm


8. Prove : 

Watch Video Solution

∫ dx = − (x + 2 cos x) + c
sinx − cos 2x

1 + sinx

9. Prove : 

Watch Video Solution

∫ dx = x + 2 sinx + c
cos x − cos 2x

1 − cos x

10. Prove : 

Watch Video Solution

∫ dx = − sin 2x + c
sin8

x − cos8 x

1 − 2 sin2 x cos2 x

1

2

https://dl.doubtnut.com/l/_kiiSgM1soUez
https://dl.doubtnut.com/l/_duVyD6arzwc6
https://dl.doubtnut.com/l/_tMg4hcWL8tve


11. Prove : 

Watch Video Solution

∫sec2 x cos2 2xdx = tanx + sin 2x − 2x + c

12. Prove : 

Watch Video Solution

∫ dx = − ( + sin 2x + cot x) + c
cos4 x

sin2 x

3x

2

1

4

13. Prove : 

 ,


Watch Video Solution

∫sinmx sinnxdx[m2 ≠ n2]

= [ − ] + c
1

2

sin(m − n)x

m − n

sin(m + n)x

m + n

https://dl.doubtnut.com/l/_0sYnC421ysHA
https://dl.doubtnut.com/l/_lOyHcLrAYCM1
https://dl.doubtnut.com/l/_SdLuZoUefdOn
https://dl.doubtnut.com/l/_fKs8XMnWQ7gh


Sample Questions For Competitive Examination Multiple Correct

Answer Type

14. Find a function whose derivative is 

Watch Video Solution

x4 − 1

x(x − 1)

15. Prove :

Find a function whose derivative is 

Watch Video Solution

22x− 1 + 21 − 2x

1.  is equal to -∫ cosec2xdx
x2 + cos2 x

x2 + 1

https://dl.doubtnut.com/l/_fKs8XMnWQ7gh
https://dl.doubtnut.com/l/_UKW8jlzagXbj
https://dl.doubtnut.com/l/_9TPECsNkWyrM


A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

cot x − cot − 1 x + c

c − cot x + cot − 1 x

−tan− 1 x − + c
cosec x
secx

−elog tan − 1x− cot x+ c

2. If 
 
 (b) 


 
(d) 

A. f(x) = sec x

B. f(x) = tan x

C. g(x) = 2x

D. g(x) = x

∫sinxd(secx) = f(x) − g(x) + c, then f(x) = secx

f(x) = tanx g(x) = 2x g(x) = x

https://dl.doubtnut.com/l/_9TPECsNkWyrM
https://dl.doubtnut.com/l/_V0Rqx6dNaWJr


Answer: B::D

Watch Video Solution

3. If

 ,

A. 

B. B=2

C. 

D. none of these

Answer: A::C

Watch Video Solution

I = ∫sec2 xcosec4xdx = A cot3 x + B tanx + C cot x + D

A = −
1

3

C = − 2

https://dl.doubtnut.com/l/_V0Rqx6dNaWJr
https://dl.doubtnut.com/l/_fdO4KHyaztt0


4. If  = A f(x) + B , then -

A. 

B. 

C. f(x) has fundamental period 

D. f(x) is an odd function

Answer: A::C

Watch Video Solution

∫ dx
cos 4x + 1

cot x − tanx

A = −
1

8

B =
1

2

π

2

5. If 
 
 is an

odd function
 
 has range 
 
 has at least one real root


is a
monotonic function.

A. f(x) is an odd functtion

f(x) = ∫ dxandf(0) = 0, then
x8 + 4

x4 − 2x2 + 2
f(x)

f(x) R f(x)

f(x)

https://dl.doubtnut.com/l/_smn3tyc0U0fV
https://dl.doubtnut.com/l/_KJZcMXGdPgUE


Sample Questions For Competitive Examination Integar Answer

Type

B. f(x) has range R

C. f(x) has at least one real root

D. f(x) is monotonic function

Answer: A::B

Watch Video Solution

1. If  then the value of k

is -

Watch Video Solution

∫sin 2x sin 3xdx = − + c
sinx

2
sinkx

10

https://dl.doubtnut.com/l/_KJZcMXGdPgUE
https://dl.doubtnut.com/l/_1sBD415OfkdA


2. If , then the value of  is -

Watch Video Solution

∫ = tan( − ) + b
dx

1 + sinx

x

2

π

λ
λ

3. If , then

the value of k is -

Watch Video Solution

∫ = sec− 1(2x − 7) + c
dx

(2x − 7)√(x − 3)(x − 4)

1

k

4. If  , then

the value of k is -

Watch Video Solution

∫ dx = − k( + sin 2x + cot x) + c
cos4 x

sin2 x

x

2

1

12

1

3

https://dl.doubtnut.com/l/_gq1gUa3X1GAB
https://dl.doubtnut.com/l/_9JDS9WYKvyjX
https://dl.doubtnut.com/l/_nGmzMFWMyZD9


Sample Questions For Competitive Examination Matrix Match Type

5. If  then the

value of n is -

Watch Video Solution

∫ dx = 2x − n log|x| − + c
2x3 − 7x + 2

x3 + 2x2

1

x

1. Let

 

A. 

B. 

C. 

D. 

f(x) = tan− 1( ) and g(x) = tan− 1( )
1 + cos x

sinx

sinx

1 − cos x

∫{f(x) + g(x)}dx =

− + c
πx

2
x2

4

πx − + c
x2

2

+ + c
πx

2
x2

4

πx + + c
x2

2

https://dl.doubtnut.com/l/_jZiyS18aJkMN
https://dl.doubtnut.com/l/_gwM8yTj7W8q9


Answer: B

Watch Video Solution

2. Let

 

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

f(x) = tan− 1( ) and g(x) = tan− 1( )
1 + cos x

sinx

sinx

1 − cos x

∫{f(x) − g(x)}dx =

πx + c

+ c
x2

2

πx + x2 + c

https://dl.doubtnut.com/l/_gwM8yTj7W8q9
https://dl.doubtnut.com/l/_VLDb3UwWTKPV


Sample Questions For Competitive Examination Comprehension

Type

1. Let

 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = tan− 1( ) and g(x) = tan− 1( )
1 + cos x

sinx

sinx

1 − cos x

∫f(x)dx =

− + c
πx

2
x2

4

πx − + c
x2

4

πx + + c
x2

4

https://dl.doubtnut.com/l/_MVUcchOYvE2E


2. Let  

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = cos 7x cos 3x and g(x) = sin 7x sin 3x

∫f(x)dx =

sin 4x + sin 10x + c
1

4

1

10

sin 4x + sin 10x + c
1

8

1

20

sin 4x + sin 10x + c
1

8

1

20

3. Let  

A. 

f(x) = cos 7x cos 3x and g(x) = sin 7x sin 3x

∫g(x)dx =

sin 4x − sin 10x + c
1

8

1

20

https://dl.doubtnut.com/l/_4TDvYdQp8jco
https://dl.doubtnut.com/l/_MuwUO2lSp1UO


B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 4x − sin 10x + c
1

4

1

10

sin 4x + sin 10x + c
1

4

1

20

sin 4x + sin 10x + c
1

4

1

10

4. Let  

A. 

B. 

C. 

D. 

f(x) = cos 7x cos 3x and g(x) = sin 7x sin 3x

∫{f(x) + g(x)}dx =

sin 4x + c
1

8

sin 10x + c
1

10

sin 4x + c
1

4

sin 10x + c
1

20

https://dl.doubtnut.com/l/_MuwUO2lSp1UO
https://dl.doubtnut.com/l/_1KfsScjFbikh


Answer: C

Watch Video Solution

5. Statement - I:  can not be evaluated . 


Statement - II : Only differentiable functions can be integrated .

A. Statement - I is True , Statement - II is True , Statement - II

is a correct explanation for Statement -I

B. Statement - I is True , Statement - II is True , Statement - II

is not a correct explanation fo Statement - I

C. Statement - I is True , Statement - II is False

D. Statement - I is False , Statement - II is True .

Answer: B

Watch Video Solution

∫ dx(x > 0)
sinx

x

https://dl.doubtnut.com/l/_1KfsScjFbikh
https://dl.doubtnut.com/l/_S4hsp8XEFZRv


Watch Video Solution

6. Let F(x) be an indefinite integral of  

Statement - I : The function F(x) satisfies  for

all real x 

Statement - II :  for all real x

A. Statement - I is True , Statement - II is True , Statement - II

is a correct explanation for Statement -I

B. Statement - I is True , Statement - II is True , Statement - II

is not a correct explanation fo Statement - I

C. Statement - I is True , Statement - II is False

D. Statement - I is False , Statement - II is True .

Answer: D

Watch Video Solution

sin2 x

F (x + π) = F (x)

sin2(π + x) = sin2 x

https://dl.doubtnut.com/l/_S4hsp8XEFZRv
https://dl.doubtnut.com/l/_NPg6W4BF9eis


https://dl.doubtnut.com/l/_NPg6W4BF9eis

